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(1) LR ARITIL, Sabine DR, Eyring O, Eyring-Knudsen OF003H 5, s 3RUTLVFHE
L7 O R/ NER & LT, LS MAE T2,

There are Sabine’s formula, Eyring's formula and Eyring-Knudsen’s formula, for calculation of
reverberation time. Choose the combination which shows the correct order of the reverberation time
length calculated by these three formulas.

1. Eyring-Knudsen>Eyring>>Sabine 2. Eyring>Sabine >Eyring-Knudsen
3. Eyring>Eyring-Knudsen >Sabine 4. Sabine>Eyring-Knudsen >Eyring
5. Sabine >Eyring >Eyring-Knudsen

RECE
Answer Field

(2]  BEHCHH2EBHE 083, AN 0.03, TINEN 0.14 DEH T ARhDH, ORI T A0 AFHEGGHE
L TRERA_Fr Sl 7 IR R S 7 AAEUCSETE R ALIBILAS 95 3T 7\ BRSMEIAS 100 %,
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‘3}51—=

KTHhv, BEHERIL5.00Wm2-K &5,

(3) AL 2-o0BE X, Y 2R o5 5HBEEZ T LTV,
O X6A0, BENY hos@EEELH & X, 2
OB AAOMYEOIE Ay m2 & LT, Hbid
RLOEFES 2L, A X, Y OfRSEE D EE axAs,
ayATFNFN60m2, 80m?2 LT3,

: A X DY

The figure shoxys the room thgt has two openings X opening X opening Y
and Y. Concerning the ventilation that the wind flows
through the room from opening X to opening Y, choose
the most adequate value of the equivalent opening
area of the whole room (i.e. (aAw m2). The equivalent
opening area of opening X and Y (e xAcand avAs) are
6.0 m2 and 8.0 m2, respectively.

1. 20m? 2. 48m? 3. 6.0m? 4, 80m? 5. 140m2

A
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(4]

1. 45dB 2. 55dB 3. 656dB 4. 145dB 5. 4500dB

izt
Answer Field

(5)  HAEBROYLEEDMED 750 Ik ThH-olo, O, BV ICEEROR BN CIIES FERED) 50000 Ix,
B A B2 BR < REEHREEAS 25000 Ix Th o7 b5, ZOERITIIEN D DABELSNI R 2 375
&, ZOHEREICRITHBYEERE UTIE LV MEAES,
The illuminance was 750 Ix on the desk in a room. At the same moment, the direct sunlight illuminance
was 50000 1x and the skylight illuminance without the direct sunlight was 25000 1x, in the outdoors

without any obstructions. Choose the correct value of the daylight factor on this desk. There are not any
light sources in this room except for the solar light from windows.

1. 30% 2. 25% 3. 20% 4. 15% 5. 1.0%

fi A
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(6] HPFHERCETEREEICET H0RD 5 b, R NELSLbDE, DEOE

Choose the most inadequate one from the following descriptions regarding city planning or urban
environment.

1. TR 7 r—u, BIREOMBOELER <
(Urban sprawl leads to a deterioration of municipal finances.)

2. HukilZ BROE LT, Mk bE1T o7
(Urban greening was implemented to control flooding.)

3. BRI D TSEBEEES (i, WCHRCERER b EEND,
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(7]

HEE N BRET B L T OGERD 5 bR BEHNRbDOE, DEOE,
Choose the most adequate one from the following descriptions regarding the architectural planning.

1. HROREORENT 1,78 A7V LT 5,
(The gradient of a slope-way for cars should not exceed 1/8.)
2. [z =Ty &1, RS THOWERRERZ T 3528 THD.
(‘Universal Design” means to design homogeneous architectures throughout the world.)
3. [va—Ry 7 R¥ A7) 137 uo—Ey bOERDOUDEOITHD,
(“Shoe box type” is one of room types of a closet.)
4. BEEUMUT vy —aT7 Ry 1FRvLRRLY,
(“Center core type” is not used in a skyscraper building.)
5. BEREOFRIMT D M LOFIMNAE &2,
(Toilet doors in the movie theater to be used by audiences should be installed to open outward.)
R
Answer Field
e
HESOER]
RN
Answer Field




(9]

HEAEBICETAUT OO 55, HHRNELRbOE, DEDES,
Choose the most inadequate one from the following descriptions regarding the multiple dwelling houses.

1.

[RIN R o A T g NVFRY DATIV R AL, A7 L0 b RAMFEATE D X 2 ISR - =il
BEDRRG =7 U — MEETERSND Z LRBEL,

(The skeleton of the "skeleton infill method”" is often constructed with a high-durable and
high-strength reinforced concrete structure to use longer than the infill.)

EAEEOFHIIIWVT, H T TE OBMRETERT 2720, vrT ¢+ 2L
(Pilotis were adopted to secure pedestrian traffic lines on the ground floor in the planning of the
multiple dwelling house.)

. (RS T 3— b ) BB SN FBR0FE L L TR SR EETH D, TORH

DOEIE, BR, HRA, AECAREF R EOYReE U CIRSROIrRASS i aME 2 5TV
RTHD,

(“‘Doujun-kwai Apartments" are multiple dwelling houses constructed as a business of Doujun-kwai,
which was established after the Great Kanto Earthquake. One of its characteristics is that the
apartment had the most advanced modern equipment at the time, such as electricity, gas, water
service, and flush toilets.)

M) OESEEICERIT DN EAREY, 33 =T 4 OFEMEHEER BT, EREOTTA
=B TERT DI O OFREIAN—R & LT HHEET D,

(The shared garden in "the grounded type" of multiple dwelling houses revitalizes the community and
works as a buffer space to ensure privacy between the residential buildings.)

(2% 7707 OEAER, B S HIAEROTREAIKE < RAEIIHS,
(The "skip-floor type" of multiple dwelling houses tends to have a large proportion of the common
passage area in the building.)
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Choose the most inadequate one from the following descriptions regarding housing and residential area.

1.
. (One of the features of "Edo-ma" is that the dimensions of tatami mats in Japanese-style rooms differ

3

TIPE) ICRBNDFHEDUE DI, FIEIZBIT 28O RESEOWIE AL L > TR@ D Z L TH D,

depending on the cross-sectional dimensions of the columns.)

AARDODFESEFEDEEI OV, RAFrEE2B TElEhd =i VEEIRS) MTH 2L
D—HETTH D,

. (A “condominium management association”, which is composed of all unit own¥ks, generally manages

a condominium in Japan.)

TAYBERE =2 —Tr—T— M DT F3—0Y, R #88 LRE\OLTSMEET
01, HTE L BEIFEORBEE R LIS
(Radburn, located in New Jersey, USA, is a typical suburban residential area thatﬁ:g@pﬁ%—fhe

" "Woonerf' and has realized the separation of pedestrians and automobiles.)

(IR &, RS b2 I 272Dl DRI T ZoKIs TR
& LA TR b AL ST D,

("T Tvhanizatinn rantrnl area ie an avea decionated tn rontl dicnroanized trhanizatiom In this avea

FEE A
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(11) SRR HUTORRD S b, RO MELRLOE, DL 28
Choose the most inadequate one from the following descriptions regarding architectural drafting.

1. FEHO BRI, BT 5HBEOREEZ TR Z &1l D,
(The purpose of the floor plan is to show the layout of rooms in a building.)

2., HASETONFIHT AMEOBEEE FD 572010, BEELIIKmESMN AR - R LTz,
(The architect made and presented an architectural model in addition to the drawings to improve the
client's understanding of the contents of the basic design.)

3. —RBREETIL, FRIOHLORKE b,

(In one-point perspective, the object closer to a viewpoint is drawn larger.)

4. TEREEED, BEREREOD LS TH S,

(The orthographic projection is one of the axonometric projections.)

5. ST, SHTHEE AV CEYIMROSE R D,
(In elevation, the vertical exterior of the building is drawn with the concept of parallel projection.)

FREHR
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(12) MoL D s T, BEuek FEFE SN AT OHEEEFE DR OIEE U TIE LW DR
S ERDY L, BICE#EH AN TS LOERRE, Hill, HEOEE VLD ETS,

Choose the correct value of the maximum building area for a fireproof building, allowed by the Building
Standard Law of Japan, on the site shown below. There is no other designation than those shown in the

figure.
W FEECHAEIRE 42 295 2 TR E SR AT
Quasi-fire-protection Zone Bk Uik

b i
fufﬁfgienﬁal Zone road designated by the Designated




(13) BEREROBEM L L TROEHRbOIEEND, LIFDES,
Choose one from the followings, which is the most adequate building of Zenshu-ys Architecture.
1. EMFREAE (Kondo, Horyaji)
2. FEHHRSPEA (Kondo, Toshodaiji)
3. JEmFHE  (Toto, Yakushiji)
4. BURSFRIARM (Nandaimon, Tsdaiji)
5. MEFEFE  (Shariden, Engakuji)

FRZEHR
Answer Field

(14) AASEFREESDICET 2 AEOMAGOEE L TR NEYRHDOIIEND, LLFrbE~S,
Choose one from the followings, which is the most inadequate combination of terms concerning the history
of Japanese modern architecture
1. BES — BREREE
(Kaichi School — Giysft architecture)

2. Rl — Ur—hLA
(Senpukan — Waters)

3. R — REFeE
(Tokyo Station — Kingo Tatsuno)

4. FHFEEE — FILRRE
(Akasaka Palace — Tokuma Katayama)

(Bunriha Kenchiku Kai — Goichi Takeda)

FREHR
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(15) 7= 7 OREERE L TROELELRLOIIEIN, UTFHHIES,
Choose one from the followings, which is the most adequate building designed by D. Bramante.

1. 74 L = KEBEED N1
(Dome of Florence Cathedral)

2. UyTea b (TyverYy)
(Villa La Rotonda, Vicenza)

3. RNTuVF AT 4T (T4 LV x)
(Palazzo Medici, Florence)

4, FTroExTwv b (g—)
(Tempietto, Rome)

5, Erhk e R —LKEER (R
(St Paul's Cathedral, London)
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(16) FHEEIRECHEHRO x, y BV n O3 HRAOREFARTAD L, a=0. g=a om=—20 (ZIK o
>0) Thol, RAERAOEEL LTELVEOR, BTFO )5 S,

Consider a deformed thin plate in the plane strain state. Normal stress in the x—, y— and n—directions

are ox=0, oy=c and owr=—20 (where, 0>0), respectively. Choose the maximum principal stress among

the followings.-




(18) ED& D BEPE—A 2 MEZTHEBITRVT, KA TORESEDOKADIEMEL L TR ULV b DOERD
5 B0 END,

The figure shows a structure subjected to a concentrated moment. Choose the nearest absolute vertical
reaction force at point A among the followings.

1. ;VI—L Mq e

2L
Zo S
2L
A
gy A By T
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M Ll Lok |
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L
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(19) IDXS>RMEERZITS FTRAIRBWT, M ABIZAELZEHEMAIE LT, ZHbTWDbOIRKRD 5 HEN,
L, WhmIE, BIRARIE. EMARALT D,

Consider a truss subjected to a load as shown in the figure.'Choose the nearest axial force of the member AB
among the followings. The positive value of axial force indicates tensile axial force, while the negative value
indicates compressive axial force.

vap i
1.—2
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pL3
243EI
4PL3
243E]
8PL3
243E]
3pI3
81EI
S5PL3
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(2 1] RCERARZ 7OLTEEEIIRIVEEE T TW D EBUKO BEIHTDy, Tid 5 b EbEM A2t D5 R,

What is the purpose of the worker's
watering shown in the photo of slab
concrete construction? Choose the most
adequate answer among the followings.

1.

a7 ) — NS EITH 128
(To carry out concrete joint work)

A7 Y— FOIREEZ T 5729
(To .lower the temperature of
concrete)

ar s ) — hOUUERNIE D70

(To suppress cracks of concrete)

ffE be%d)i‘EﬁE@k&b

(To prepare for finishing work)

a2 Y — FOBBEKTEET S 720 frt
(To carry out waterproofing concrete coating) et oo |

(22] HARENE, REEZZH COAHED RCECEDN TV D BEMEHI BT 25080 9 b, HbRiEL72 b ok
KD 5B ERD,

Concerning the building materials for the RC columns of the room where you are taking the examination

just now, choose the most inadequate description among the followings.

1.

a7 J— b+ OFRBEL SNmm2BETH D,
(Tensile strength of concrete is about 3N/mm?2.)

. a7 V—rOEEIT32tUmIEETHS,

(Mass density of concrete is about 3.2 t/m3.)

. S OBIIRIREIY 450N mMm2BRETH 5,

(Tensile strength of steel bars is about 450N/mm?2.)

. SR DOEEIL 7.8 tm3RETH D,

(Mass density of steel bars is about 7.8 t/m3.)

. Bk L a s U — NOBRIEREEIT L HIT LIX10 CRETH B,

(Linear coefficient of expansion of both reinforcing bars and concrete is about 1.1x105/°C. )

fRE
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(2 3] RKEHAER L B DR D KT 2 BOMELE 2 5, EEHARD S ESEEIL 150 m/s. BEIS 1600 kg/m3, BEIX
15m THD, TRO S EHREL 400 m/s, HEIT 2000 kg/m3 Th 5, FEHIEOEAER) L LTELFVVE
ELUTF B~y

Consider two horizontally layered soils that consist of surface and bedrock layers. S-wave velocity, density and
thickness of the surface layer are 150 m/s, 1600 kg/m3, and 15 m, respectively. S-wave velocity and density of
the bedrock layer are 400 m/s and 2000 kg/m3, respectively. Choose the nearest natural period (s) of the surface
soil among the followings.

1. 02s

2. 03s

3. 04s

4. 05s

5. 06s

HEEHR
Answer Field




16

REE

Answer Field

=




(2 7) HOBREEROBRRIRIN, HEAEM CTHAHIR (B ¢; 8100 mm) OEHRIRSO 1375 23EA0
HROES t 2RO, BROEWVSDOZLUTOFRNPLES, 72720, SR & B E OF 3EMBE S & wARTER.
JEINE FRBE06FET D,

Calculate the thickness Zof the connected steel plate as shown in the figure to achieve that the yield strength
of the welded joint is 1.3 times that of the connected steel plate (thickness: ¢; width: 100mm)_, and choose the

nearest value among the followings. Suppose tensile yield stress and shearing yield stress, respectively, of
the plate and the weld are F'and 0.6F

1. 13 mm 160
——¢
2. 17mm . 100 I I- : ==
3. 21 mm \ Thickness: ¢
n . \ | (Unit: mm)
107
‘5. 29 mm
2=
Answer Field

Consider three friction-type high-strength bolted connections shown in the figure. Choose the correct

relation, concerning the strengths P, A and 2 to prevent the joint from slipping, among the followings. The

fr_i_ct_i_on'coqf_ﬁ_cieln_t p#and design telnsile force of the high-strength bolt T'are adopted as presented in the
VI = - E e g T : Lo ' '-;.", _— TLEee -

i iy B = = = P ]




(29) Hik - EBECEIT 2L T ORI TR L AE 2 b0 ER~,
Choose the most inadequate description concerning soils and foundation among the followings.

1. BERERIE. #9250 TR O 2 TEAMCHRE L HEETH Y, BERUMRTH D,

(Diluvium was developed from approximately 2.5 million to 20 thousand years ago and consists of stiff
soil.)

2. B FemhEpbin. Rt EE L Th A,

(Alluvial fan mainly consists of sand gravel and is generally stable.)
3. Vb e BT WOFHEOKRE SOREEL b OTEET,
(Silt refers to soil with particle size in between clay and sand.)
4. ERIE LT TIE. RORIFRIOKEIDEE LV B 2o TS,
(In a liquefied ground, pore water pressure is higher than normal.)

5. FERTI, ~EBLERTERTZ a7 U — FORIESEND,

(Wahimao Af annavata fav frntine framdatinn 1o lawean than that fam walf famdatiam )

fEER
Answer Field
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Q) ZoFHE L OMBERTGRRE RO TN TS, RBRESEFTALTIIZS,

(3 IR AL A VAT SNz b O T, MEEIEE SHBIMTRIAL TSN,

@) FENEEZENRVEEY, RUAROEGEZRA L THOEOERA, 12720, TO5RAIE Bk 2Lk
BRI L2 &30 D LI LT T L,

(5) ARMFRE L2V,

6) RS, S5 SRCERAHH L ThEL IRV,

T H

a1

(7) RSV ED HDBEEIFERET TIZE0Y,

There are 13 question and answer sheets including a front sheet.

&) Fill in your examinee’s number in the specified positions in this cover and every question and answer sheet.
This examination booklet consists of question sheets and answer sheets. Answer the questions in the

@ specified position.

If the space is exhausted, use the reverse side of the sheet and write down “to be continued” on the last line of

®) the sheet.

Eg; Answer all the questions.
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N e e P aUl e I

LITFD T 20EEN S b SEBR L, BERETZORED, ThEniiiity, 60~
Choose five from the following seven items and explain each one from the viewpoint of architectural

environment engineering. (60 points)

. HERHEREE & AT
" absolute humidity and relative humidity
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HERFE | BEGEY GFFRE D Tas T A et Edcias
Subject Architecture (II) Program | Architecture | Examinee’s Number

(2) BEHETACEETHUTORERIEL L,
Answer the following questions regarding architectural environment engineering.

(1) EEARERNRIUATBEREFOBAMIONT, T ENEEER L BEEMIST TR L, Q0R)
Explain sensible heat load and latent heat load in cooling operation during summer and heating operation

durin_g winter. (20 points)

(2) KEFOELFEER 3 BT TENTHHAL, IEFEOREROMKUZ OV TR L, (20 50

Indicate three major types of toilet bowls. Also explain recent trend of water conservation of toilet bowls. (20
points)
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(4) &Fh - BEFACET LT O NCREE L,
Answer the following questions concerning the history of architecture and design theory.

(1) DS D A ARSI BT BRSO REIC VT, TROENLAVTHIAT L, 255
BER, TR, (LHELR A

Explain the development of roof structure from ancient to medieval periods, referring to the keywords as
below. (25 points)

(noyane, nodaruki, keshodaruki, hanegi)

(2) HR=O7 MEFRCRIT AT I v FORBBIRCOWT, TROmmEAVTHAY L, @5 %)
(wA&N, BEREI I K, BHCZ Iy P, OAHOET I v )
Explain the development of pyramid in the ancient Egyptian architecture, referring to the keywords as
below. (25 points)
(mastaba, step pyramid, bent pyramid, pyramid)
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(3) TR EROREEL L ENETNEEE &, 25 7
Answer the name of architect for the following modern architectural works respectively. (25 points)

(@ # v NEF ('Y 2 /L) Hotel Tassel (Brussels)

D1 5

&) : (b)
© . @
(e
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(5) HUFOTH0EEDH S 5 DFBRL, AAROEFEEE /i BERAEEDOBNN L, ThEhfiEit L, (60
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15, 000

£, curtilage

| Subject Architecture (IT) Program | Architecture | Examinee’s Number
(6) (fiZZMM Answer Field)
B 1 P ‘T
layout with 1st floor plan
S=1:100 |
& |
" 5 |
AlfEIERE, front road g o ‘
N\ 3|
m |
o
@ o
AiEEREE, front road
188 width
am
L i
&
10, 000
FRRforest
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Subject Architecture (II) Program | Architecture | Examinee’s Number

(6) (BEM —H>S% AnswerField)

2 B
20d floor plan
S=1:100

12




HEREE | BEGHEY FFEAID A=P A SN oo 6 ey

Subject Architecture (IIT) Program - | Architecture | Examinee’'s Number M
(6] (REM -o>>5% Answer Field)
PRI

interior perspective drawing




